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Improvement Test  – Nov. 2019 

Sub: Satellite Communication & Remote Sensing  Sub Code: 15TE72 Branch: TCE 

Date: 16.11.2019 Duration: 90 min’s Max Marks: 50 Sem / Sec: 7th OBE 

Answer any FIVE FULL Questions MARKS CO RBT 

1.   Explain hierarchical organization of visual interpretation criteria. Explain Color 

formation. 

[5+5] CO4 L1 

2.  What are the constraints in using remote sensing data?  [5+5] CO4 L1 

3. (a)  Explain the term shadow with respect to criteria of visual interpretation. [06] CO4 L2 

    (b)  Explain multitemporal analysis. [04] CO4 L4 

4. Explain the various types of interpretation in detail. [10] CO5 L2 

5. Explain the elements of visual analysis.        [10] CO4 L2 

6.        How remote sensing project is organized. Write in detail about scale and resolution. 

                   

      [10] CO5 L4 

7.    Write down short notes on following –  (any 2)   

a)Interpretation Phase       b)Texture     c)Feature identification 

 

 

[5+5] CO4 L2 
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